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REGISTRATION NUMBER : c
EXAM DATE : 7-July-2017 a
EXAM NAME : SSC Examination n
TOTAL MARKS : 200 d

i

d
QID : 1 - In the following question, select the related word from the given alternatives. a

t
Pen: Write::?2:? e

1 AFAFad o7 | fGU U fadhd | I Hared X &I gFAT|

Options:

1) Erase : Rubber

fHCTAT : ISR

2) Cup : Liquid

Py : dd

3) Pencil : Wood

T ; el

4) Knife : Cut

g : DIl

Correct Answer: Knife : Cut
g : DIl

Candidate Answer: Knife : Cut
oI : DI

T e s 03>

< Or >

QID : 2 - In the following question, select the related word from the given alternatives.

Create : Destroy ::?:?

1 Ararad o7 | U U fahd | I Hafed *T € &I gFAT|

Options:

1) Thin : Small

T : Bier

2) Long : Short

S Bl

3) Fat : Huge

e : )

4) Long : Topmost

qS: T HR

Correct Answer: Long : Short
a9 Bl

Candidate Answer: Long : Short
q S BleT

QID : 3 - In the following question, select the related letters from the given alternatives.

SNOP : ONSP : : CLAY : ?

1 Ararad oF H faU U g0 T I Tardd 3 X &l g |

SNOP : ONSP : : CLAY : ?
Options:

1) ALCY

2) LCYA

3)LYCA

4) ACLY

Correct Answer: ALCY
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QID : 4 - In the following question, select the related letters from the given alternatives.

PAN:TDM::?2:?
1 Ararad o7 T fGE T4 fah1d T I Hared 37 I BT gg|

PAN:TDM::?:?
Options:

1) GIL : KMG

2) HOT : KLG

3) MAN : PAM

4) SIP : WLO

Correct Answer: SIP : WLO
Candidate Answer: SIP : WLO

QID : 5 - In the following question, select the related number from the given alternatives.

23:72::38:?
1 Ararad oF H QU 7T AT T I efed I a1 BT g |

23:72::38:?
Options:

1) 110

2) 117

3) 123

4) 112

Correct Answer: 117
Candidate Answer: 117

QID : 6 - In the following question, select the related number from the given alternatives.

Options:
1)79: 168
2)119: 226
3) 167 : 291
4)34:122

Correct Answer: 119 : 226
Candidate Answer: [ NOT ANSWERED ]

QID : 7 - In the following question, select the odd word from the given alternatives.

1 AfArEd 97 T fGU 7Y fa®md | I a9 X &I AT

Options:

1) Sea

s

2) River

gk

3) Ocean

HETENR

4) Swimming Pool
GRUGIN]

Correct Answer: Swimming Pool
GRUGINI

Candidate Answer: River
ak

QID : 8 - In the following question, select the odd word from the given alternatives.

1 ARIT 971 H faU MY fahid 1 I fa9H T ¢ HI Y|
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Options:
1) Red
el
2) White
whe
3) Blue
e
4) Yellow
el
Correct Answer: White
whe

Candidate Answer: White

Whg

QID : 9 - In the following question, select the odd letters from the given alternatives.

1 AFARId 97 T fST TTU fdH T T I fa¥H 3 X &I T |

Options:
1) NQTW

2) PSVZ
3) WZCF

4) BEHK
Correct Answer: PSVZ
Candidate Answer: PSVZ

QID : 10 - In the following question, select the odd letters from the given alternatives.

1 fAEd 9 H fGU MU fadh1J H I fa¥H I Bl G|
Options:

1) XTCG

2) NIMQ

3) EAUZ

4) SOHL
Correct Answer: EAUZ
Candidate Answer: EAUZ

QID : 11 - In the following question, select the odd number from the given alternatives.

1 AFAFEd 9 H fGU 7T fgdmd T I faoH I 1 H1 I |
Options:

1) 61

2) 51

3)97

4) 89
Correct Answer: 51
Candidate Answer: 51

QID : 12 - In the following question, select the odd number pair from the given alternatives.

1 fAREd 99 T fGU 7Y fah1J | I fauT I A1 A H1 g

Options:

1) 13-2028

2) 11 -1210

3)7-336

4)9 - 648

Correct Answer: 7 — 336
Candidate Answer: 7 — 336
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QID : 13 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Mobile

2. Mandate
3. Mandarin
4. Monkey
5. Master

AIARAIRIG HINEGHINT A I TP IR |

1. Mobile

2, Mandate
3. Mandarin
4. Monkey
5. Master
Options:

1) 32514

2) 31254

3) 35241

4) 35214
Correct Answer: 32514

Candidate Answer: 32514

QID : 14 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Drink

2. Drinking
3. Drive

4. Dictionary
5. Dracula

AAFAFEA G HINGHINA AA I TP IR fad |

1. Drink

2. Drinking
3. Drive

4. Dictionary
5. Dracula
Options:

1) 45123

2) 41532

3) 42513

4) 45213

Correct Answer: 45123
Candidate Answer: 45123

QID : 15 - In the following question, which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?

ml_nl_mim_I_mimn_

fAFfArEd 97 H 3 HI DI 1 THE Tk U TR HARIGT VT8 3T Tl B R B2

_mi_nl_mim_I_mimn_
Options:
1) nnmmll
2) nminml
3) mninim
4) nmnnnl

Correct Answer: nmnnnl
Candidate Answer: nmnnnl

QID : 16 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

FGC, HHA, J1Y, ?

T 3 W ST T ], fO5an ¥ U e g d 7| fSU 7Y faHU T I 98 Wek fAH1T I, ST 31 H 1 ORI B

FGC, HHA, J1Y, ?
Options:

1) KKW

2) Lw

3) LKX

4) KIX

Correct Answer: W
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Candidate Answer: LJJW

QID : 17 - In the following question, select the missing number from the given series.

2,6,4,9,8,13,16,18,32,?
= AfIfad 91 H fQU 11U fahiyg ﬂ@@ﬁxﬁ&? «Td & foem|

2,6,4,9,8 13,16, 18,32,?
Options:

1) 24

2) 26

3)22

4)28

Correct Answer: 24
Candidate Answer: 24

QID : 18 - In the following question, select the missing number from the given series.

534, 543, 559, 584, 620, ?
fAfARId 97 H fGU T fahd AU d 3d «Td & foum|

534, 543, 559, 584, 620, ?
Options:

1) 648

2) 676

3) 669

4) 671

Correct Answer: 669
Candidate Answer: 669

QID : 19 - The ratio of present ages of Sumit and Amit is 3 : 4. If the age of Sumit 20 years hence will be 62 years, then what is the present age (in years) of Amit?

AT TUT AT D IdHTT 31 hT JUTd 3 : 4% Tfq 20 Idyfi U9dTd JfHT h HFHGZGN@’ﬂ,?ﬁB{fIIHEE IAHTT 1Y (dYfi
H) RAT - Options:

1) 56

2) 64

3) 60

4) 52

Correct Answer: 56

Candidate Answer: 56

QID : 20 - In a line of boys Aman is 12th from top and Baman is 18th from bottom. If there are 6 boys between Aman and Baman, then how many maximum boys
are there in the row?

TSH & TP URTAMTMT SR A 129 YFIUTTAT T T 189 YA R 8| Tfg AT AU THT S HTH 6 ASP 8, ol GIORI T 3Hrebad fba

?13% ©? Options:
1) 34

2) 36
3)35

4) 37
Correct Answer: 36
Candidate Answer: 36

QID:21-6boysP,Q R, S, Tand U are standing in a row facing north. P and Q cannot be either at 1%t or 2nd place. R and S will always be together and R must
be at one of the ends. R doesn't have S to his right. Who is standing on the west end?

6TSH P,Q,R, S, TIUNMUTH URRAAT WP AR TI HIP TS TP AUTQ USA AT I U IR -8ke §I R AUTS THRM IR TUTR TP BRI ETIR P T
S 7TEkS Bl FUoTH SR R B ST 8?
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Options:
1)S

2)SorU
Saru
3)T

4)TorU
Taru

Correct Answer: T or U
Tau

Candidate Answer: T or U
TaU

QID : 22 - In the following question, select the word which cannot be formed using the letters of the given word.

BLENDING

1 AR fahd H A TG G AT S fGE T RIG B 3 I BT AR HRDB Aok ST Sl FabelT|

BLENDING
Options:
1) BLEND
2) BALD

3) LEND

4) BINGE

Correct Answer: BALD
Candidate Answer: BALD

QID : 23 - In the following question, select the word which cannot be formed using the letters of the given word.

TRADITIONAL

1 FARAId fad A TG G AT SN FGETTERIG & 3 BT AR HIPB Aok ST Sl FabelT|

TRADITIONAL
Options:

1) NATIONAL
2) TRAIN

3) LAND

4) RATION

Correct Answer: NATIONAL
Candidate Answer: NATIONAL

QID : 24 - In a certain code language, "UPDATE" is written as "FRWCRY" and "GREATS" is written as "GTIQRY". How is "BLENDY" written in that code
language?

Teh fAfY < SIS HINTH, "UPDATE" &1 "FRWCRY" &A1 ST § 4T "GREATS" &1 "GTIQRY" fARATSIIAT 8 | 3 IS HTNTH "BLENDY" &) fh g SR @]

SITEIT? Options:
1) DMGWBL

2) CIZAFP
3) ZICPFA

4) GNDWBL
Correct Answer: GNDWBL
Candidate Answer: CJZAFP

QID : 25 - In a certain code language,"FRAME" is written as "OUGVH" and "STONY" is written as "IVUXU". How is "RESTS" written in that code language?

T fIfRI T HIS HINTH,"FRAME" %) "OUGVH" faa] SITdT & a1 "STONY" &1 "IVUXU" faaT ST 8§ | 9 1S HINTH "RESTS" P! T BT fadl

SITIIT? Options:
1) CBYIT

2) ABDHS
3) EAZHS

4) EAZIT
Correct Answer: CBYIT
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andidate Answer: CBYIT

QID : 26 - If "+"” denotes “multiplied by”, "-" denotes “added to”, “x" denotes “divided by” and “+" denotes “subtracted from”, then which of the following equation
is true?

TG+ BT 37 0T %, _n T 3y th %, S ST Y AT B qUT " T 31 “UeT” %, A FAFArET TS ST
i30T TEk 27 Options:

1)30+8x4-6+1=32

2)8+5-20x4+6=41

3)12-12+6x6+3=21

4)6+7x3-4+-6=26

Correct Answer: 12-12+-6x6+3 =21

Candidate Answer: 12-12 + 6 x6+3 =21

QID : 27 - In the following question, by using which mathematical operators will the expression become correct?
35?5210?215?4
1 AT 97 |, f&U T4 fadd | I b1 0T I ATSHT BT AT H Y &1 T THIH 0T Uk T SITET?

352?5?10?15?4

Options:

1)+, +, =and x

+, +, =dUT x

2) x, +, > and x

X, +, > dUT x

3) +, X, >and x

+, X, > dYUl x

4) +, x, <and +

+, X, < dUT +

Correct Answer: -, X, > and x
+, %, > dUl x

Candidate Answer: +, x, > and x
+, %, > dUl x

QID: 28-1f34 x 15 =495 and 43 x 12 = 504, then 98 x 17 = ?

TS 34 x 15 = 495 TUT43 x 12 = 504, ), G198 x 17 = ?

Options:
1) 1649
2) 1683
3) 1763
4) 1751

Correct Answer: 1649
Candidate Answer: 1649

QID: 29 - If 26 (52) 8 and 48 (192) 16, then what is the value of 'A" in A (175) 14?

Tfg 26 (52) 8 IUT48 (192) 16 &I, AA (175) 14 T, 'A' HTHMH RAT

2 Options:

1) 50

2)25

3)35

4) 40

Correct Answer: 50
Candidate Answer: 50

QID: 30 -

"

Options:
1) 152

2) 184
3) 166

4) 162
Correct Answer: 166
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Candidate Answer: [ NOT ANSWERED ]

QID:31-
In the following question, select the number

which can be placed at the sign of question
mark (?) from the given alternatives.

farafaiaa ua & feu 1w Rweat 7 & A
e (?) & TIET W A arell T&AT B

gfaw|

B 5 6 125
8 9 7 513
11 ? 6 536

Options:
1)7

2)10
3)9

4)8
Correct Answer: 8
Candidate Answer: 8

QID:32-

L

Options:
1) 60

2)40
3) 80

4) 76
Correct Answer: 60
Candidate Answer: 60

QID:33-

How many triangles are there in the given
figure?

& 3 Ipfa # fraa fegs €2

AN

é///\"\\\_

=
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Options:
1) 13

2) 14
3) 12

4) 15
Correct Answer: 15
Candidate Answer: 15

QID : 34 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. All grapes are green.
II. Some green are hard.

Conclusions:

1. Some green are grapes.
II. Some hard are grapes.
III. No grape is hard.

FARUIT AF oA H G T HYF R 3% 91 I HYT IR HYIIA F S 1 Y GU T §, SAiD S0 AT Td dad I £ Td1 81 Tebail 5 |
B UG 3R fBR T IT DR b fGT T B A 1Y, fGU T HYT P YR WR I RIATI B

DPY:
L9 SR &R B
IL$IRIATTI

foa s

L. $O N REI
1.$TIT NIRRT

111 I3 3R I T gk> B

Options:
1) Only conclusion (I) follows

&I 15V (1) ek T

2) Only conclusion (I) and (II) follow

& 1Y (1) qUT (11) Wek §

3) Only conclusion (I) and (III) follow

FTd DY (I) qUT (III) T8k T

4) All conclusions follow

Il 1 By Tek 8

Correct Answer: Only conclusion (I) follows
HIA Y (1) TBk T

Candidate Answer: Only conclusion (I) follows
I 159 (1) T8k 3
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QID : 35 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. All cars are black
II. No black is shining.

Conclusions:

1. Some cars are shining.
II. No car is shining.

III. No shining is car.

FRAEUTT AF T A FH B HYF R IS 901G ST HYT R AUTITF S 1 HY U U §, BIAID STH AT «Td dad I U TdT 81 gobai o | Faft
TP UG 3R R 14T IA DR b fEU MY BT Y F DY, fGU T HYUT P YR R GORIITA I

DY
1. 3ff mrsal Sk B
II. B3 BTl IHS @ T8k Bl

foasue:

1. B Mrsal 99 dk §1

II. TS TS} IHD Tk T8ko B
III. HIS THG dk TSI T8k B

Options:
1) Only conclusion (I) and (II) follow

&9 1 HY (I) TUT (1) TSk §

2) Only conclusion (II) and (III) follow

& Td Y (II) T (111) Hek §

3) Only conclusion (I) and (III) follow

FTd A HY (I) TUT (1) T8k §

4) All conclusions follow

TH [ PTGk T

Correct Answer: Only conclusion (II) and (III) follow
& Td 1 HY (1) qUT (I11) T8k §

Candidate Answer: Only conclusion (II) and (III) follow
& Id 1 HY (II) TUT (11I) T8k §

QID: 36 -

Two position of a cube are shown below.
What will come opposite to face containing
‘9’?

AT T °e A aEATE A T g
‘9’ Ieh Helch o TOId &=am 3R=em?

Options:
1)7

2)4
3)6

4)4o0r6
4 3HYdl 6
Correct Answer: 4
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Candidate Answer: 4

QID:37-

.

Options:
1)y

2)0
3)90

4)yordy
3Yd1d

Correct Answer: y
Candidate Answer: y

QID: 38-

.

Options:
1)h

2)g
3)f

4)k
Correct Answer: f
Candidate Answer: f

QID : 39 - Identify the diagram that best represents the relationship among the given classes.

Tree, Branches, Root

g G AU S Ai1d fGU MY T b did o Hael BT dgk £ T0T

HRAT| U, TTETY, &S
Options:

1)GD
O

2)

3)

4)

QD

Correct Answer:
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Candidate Answer:

QID : 40 - Identify the diagram that best represents the relationship among the given classes.

Shirt, Trouser, Clothes
TG R AU Sl 19 G T a7 & S o A& BT Tk 1 IO

HRAT 8| B, TdqH, PUS

Options:
1)

ok
O

3)

4

=

@} o8| [0

Correct Answer:

Candidate Answer:

13/59
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QID:41-

Which answer figure will complete the pattern
in the question figure?

Bl A 3R HTPA T4 HPIa & Tfasq &t
T Ar?

*~J

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:
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QID:42-

Which answer figure will complete the pattern
in the question figure?

dld W 3AX HTPQ T HTHId & Ufasd @l
QT AT?

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:
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QID: 43 -
From the given answer figure, select the one
in which the question figure is
hidden/embedded.

& ¢ W IpfaA F ¥ 37 3 NHA
& gfar 5w & uy smefa fAafsa &

7

Options:
1)

| \/|

>

3)

2)

4)

Correct Answer:

| \/|

Candidate Answer:

| \/|
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QID:44-
From the given answer figure, select the one

in which the question figure is
hidden/embedded.

& g 3R At F ¥ 37 3R iy
& gfaw o & uar smgfa fafsa &

—

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:
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QID: 45 -
A piece of paper is folded and punched as
shown below in the question figures. From
the given answer figures, indicate how it will
appear when opened?

A & UA HHaA # fEEmT 3gEr ders
Bl AZI DE dUT Wield & a1 T8 fohd
>R pfa S e game

% ]

Options:
1)

2)

ggrrect Answer:

Candidate Answer:
o
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QID: 46 -
A piece of paper is folded and punched as
shown below in the question figures. From
the given answer figures, indicate how it will
appear when opened?

AT & A il # fGEIT 3gaR #ere
@ ABH B AT Giold & d1G ag g
TR Apia ST fears gam?

A A ||z

Options:
1)

2

or—o

3)
e

4)

-

Correct Answer:
.

Candidate Answer:
QID: 47 -
Options:

1)

=
2)

3)

"

4)
Correct Answer:
Candidate Answer:
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QID:

48 -
If a mirror is placed on the line AB, then

which of the answer figures is the right image
of the given figure?

IfE T gUUT B AB XWT W I&T AT, af &
TS ZAR AHAAT A F Pl T 3Pa T4
HTpia dr T uiafasa gefr?

A\t
Ak B

Options:

1)

.

2)

3)

YA/ ¥

4)

A\ K

Correct Answer:

YA/ ¥

Candidate Answer:

YA/ ¥
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QID: 49 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented by
two classes of alphabets as shown in the given two matrices. The columns
and rows of Matrix-l are numbered from 0 to 4 and that of Matrix-ll are
numbered from 5 to 9. A letter from these matrices can be represented first by
its row and next by its column, for example, ‘E’ can be represented by 10, 22,
etc., and ‘O’ can be represented by 56, 78, etc. Similarly, you have to identify
the set for the word “HALT”.

U A had Uh GEAT-UHE NI G R ¥, Star 6 fQaeut d & el
o & fgar wan 81 faweul & Ru wv dear-wag HaRY & &Y anf gry geiv
v €, Star B R e & et & R eyl & Faws AR o & dwan
0 T4 R myYp-l F5F 91 39 FYE A TH HEW M Ugel 3THI Ul
AR aig & warw dwar grr gt S gaar ¥ 3egiekor & faw B @t 10,
22, TG ERT GRiFT S AHar § dUT ‘O’ W 56, 78, G ERT GRMAT I
har ¥ W W @ HUH uA A U e ‘HALT & T @ @

uEarEar ¥
Matrix-I Matrix-ll
Ieyg- Jreyg-l
0(1[([2[3]4 5|6|7]8]|9
O|T|IE|R|A|H S|L|O|P|UI|E
1|E|R|H|T[A 6|O|P|E|L|U
2|A|H[E|R|T 7|UJE[L|O|P
3|R|T|A|HI|E 8|P|L|U|E|O
4| H|A|T|E|R 9|E|U|O|P|L
Options:

1) 40, 03, 76, 24
2) 21, 41, 68, 13
3) 12, 14, 69, 00

4) 34, 41,87, 31
Correct Answer: 21, 41, 68, 13
Candidate Answer: 21, 41, 68, 13
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QID: 50 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented by
two classes of alphabets as shown in the given two matrices. The columns
and rows of Matrix-l are numbered from 0 to 4 and that of Matrix-ll are
numbered from 5 to 9. A letter from these matrices can be represented first by
its row and next by its column, for example, ‘V’ can be represented by 31, 44,
etc., and ‘D’ can be represented by 67, 86, etc. Similarly, you have to identify
the set for the word “GLOW”.

Ud Qe dhacl Uh GEAT-GHE GRT G TR ¥, otar fn faweut # @ Rt
v # Gz aran ) faweut o R sv dwn-weE 3Rt & ar aaf &R gRiw
aw g, Sk 5 fQw e @) aneygt & R meyp & waew 3R of i e
0 T4 RNy H5F 9] 3a YR A UH R I Ugal SHH UTh
IR G # TAEH EEAT SR GART ST Gl &1 3Giur & T v @ 31,
44, 3f¢ gRT GRMgT ST WA ® 9Ur ‘D’ @ 67, 86, e gWr &MAT S
wFar &1 W R ¥ TN uH A BU g “GLow” & fRw wE @

UEaEEr ol
Matrix-1 Matrix-1i
-l -l
0(1]2(3]|4 5|/6(7[8|9
OJ|O|N|VI[S|W S|A|G[L|[I]|D
1|V|S|W|O|N 6|LIA|D|G]|I
2|W|O|N|V|S 7|D|I|JA|L|G
3IN|V|[S[W[O 81 |D|G|A|L
4|S[(W|O|N|V 9|G|L|I|D|A
Options:

1) 56, 89, 01, 04
2) 68, 78, 21, 42
3) 87, 65, 22, 41

4)95,57,13,33
Correct Answer: 95, 57, 13, 33
Candidate Answer: 95, 57, 13, 33

QID : 51 - Which among the following comes under tertiary sector of Indian Economy?

1 TrARId | I B URAH S YTH JAd - &b SfeTd HTar

B Options:
1) Cloth Industry

FHUSTIEIANT

2) Transport of goods
T g3l T U Iae
3) Dairy

SRk

4) Sugar Industry

= e

Correct Answer: Transport of goods
ggsfi H1uasd
Candidate Answer: Dairy

WK

QID:52- publishes Economic Survey in India.

YR 3y Tt o7 HIrid Hel gl
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Options:
1) Government of India
HRT IRDPR
2) Ministry of Finance
fAdH T
3) NITI Aayog
Frra smaNT
4) Prime Minister of India
YRI D o=H
Correct Answer: Ministry of Finance
fAdH T
Candidate Answer: Ministry of Finance
fAdH T

QID : 53 - In which economic system the government decides what goods are to be produced in accordance with the needs of society?

Staff Selection Commision

B 3TFYH UMk T TRBR Tg 101 T § b GHISI &b HGoTbharsii b AR 4 79 gaif 13 gre

fhd1 STU? Options:

1) Socialist

BIBISEIER

2) Mixed

fard

3) Capitalist

BAGIEIED

4) Traditional

UR U Ih

Correct Answer: Socialist
HrHTSIATGk

Candidate Answer: [ NOT ANSWERED ]

QID : 54 - 1 Rupee note bears the signature of whom?

TH VA F Al R fHAS g AT B 82
Options:

1) Government of India

HRd IRPR

2) Chief Justice of India

YR G T ararei=r

3) Finance Secretary of India

YR 9 d TFq

4) Prime Minister of India

YRA BT UTH

Correct Answer: Finance Secretary of India

YR fd d Irad
Candidate Answer: [ NOT ANSWERED ]

QID : 55 - Which five year plan recognized human development as the core of all developmental efforts?

fH Y Uaay g i1 A Ad fah ™ B! 94l fad™ & I &1 Hd

ddrEAT Yr? Options:

1) First Five Year Plan

Ugdk Uaay g el

2) Second Five Year Plan

TRk Ay I e

3) Eighth Five Year Plan

3T&dT U=ay g el

4) Ninth Five Year Plan

A daaw T Ao

Correct Answer: Eighth Five Year Plan
3T&dT U=ay g el

Candidate Answer: Eighth Five Year Plan
3T&dT U=ay g el
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QID : 56 - A system of rules that takes effect when a military authority takes control of the normal administration of justice is called as .

I GART M TUT TTIUTFABT 61 U (98 T H A & I ANLHRIS HTA DB Hed 8l
Options:

1) Coup

d didcic

2) Strike

gSdid

3) Martial law

=

4) Political prisoner

RIEE LTS

Correct Answer: Martial law
I dr

Candidate Answer: Coup
d didcic

QID : 57 - Who among the following is the most important political institution in a democratic country?

1 FraRad T A B B8l Alhdif b o & Jad U dYUT IS I AT 82
Options:

1) President
T Gfd

2) Parliament
I

3) Prime Minister

TH <

4) Cabinet Ministers
H ST uNe

Correct Answer: Prime Minister

TH <

Candidate Answer: Parliament
I

usually based on careful calculation of gains and losses?

mwﬁaﬁmmmaﬁ-aﬁm SEa T W &7

Options:

1) Moral

Arad

2) Socialist

qHTSIdIgk

3) Prudential

gfoRARD

4) Ethnic

RS

Correct Answer: Prudential
gfoRARS

Candidate Answer: [ NOT ANSWERED ]

QID : 58 - Which kind of decisions are

QID : 59 - Emergency provisions in Indian Constitution has been taken from

YRAT TraU 7 3M9Td SUsy _ ¥ Al 4 8
Options:

1) British constitution

f fERT g™

2) Government of India Act 1935

HRJ WRPR HfYFTIH 1935

3) Irish constitution

3T I HrIYT

4) Japanese constitution

ST g
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Correct Answer: Government of India Act 1935

HRd IRPR fYIH 1935
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Candidate Answer: Government of India Act 1935
HRA WRXDPR FYFIH

1935 QID : 60 -
Match the following.

@ F1 Faa Hifaw)

Column - |/ % -1 Column - Il / Ta% - I
1. Acquisition of Indian a. By Deprivation
citizenship T FE W
AT AT &Hr
9o A T AL
2. LossofIndian b. Equality before law and equal
citizenship protection of laws
HRAT ATETEAT Fr B & Jga @& ar aur
HT F F alEr faftat & gare Fwemor
3. FundamentalRight c. By Registration
qor d#fosR AT B
Options:
1) 1-c, 2-a, 3-b
2) 1-b, 2-a, 3-c
3) 1-¢, 2-b, 3-a
4) 1-b, 2-c, 3-a

Correct Answer: 1-c, 2-a, 3-b
Candidate Answer: 1-c, 2-a, 3-b

QID : 61 - Which of the following can be amended by special majority?

1 rARad T ¥ fh faRIY IgHd GaRT AR fHAT oI Tl
2? Options:

1) Directive Principles of State Policy

JIH Aird AT AH T

2) Rules of Procedure in Parliament
TAE DI I & a9

3) Admission of new state

AERT Y hT Mo

4) Use of English language in Parliament

I T 3f O HIET ST ART

Correct Answer: Directive Principles of State Policy
JIH Hird AT b I

Candidate Answer: Admission of new state
UG HTITST

QID : 62 - For how much time Financial Emergency can be proclaimed?

£ T STUTd foha- QT & AU AN ST et
37 Options:

1) 6 months

6 Tk

2) 12 months

12 A kA

3) 24 months

24 gk

4) No maximum period

HIg 3ffUHad 3are ek

Correct Answer: No maximum period
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Candidate Answer: 12 months
12 Hkd

QID : 63 - Which among the following do not participate in election of the President?

AAFARIT T Y BT Urd & gATd T 18 IT T8kS Ad 82
Options:

1) Elected members of both the houses

9 eI P g guIed

2) Elected members of legislative assemblies of states

YIS I gu e I

3) Elected members of legislative assemblies of Delhi and Puducherry
fEIcTk TUT g ARk fAYT IHT & T gL IS T

4) Nominated members of state legislative assemblies

fAYTIEHI & ATHIfPd fHTITT TG T

Correct Answer: Nominated members of state legislative assemblies
fAYTIEHI & ATHIfPd fHTITT TG T

Candidate Answer: Nominated members of state legislative assemblies
fAYTIEHI & ATHIfPd fHTITT TG T

QID : 64 - In which year (in A.D) did Babar invaded India?

AR A URA WR B qW (3. H) T HOT 5371 UT?

Options:

1) 1530

2) 1520

3) 1526

4) 1550

Correct Answer: 1526

Candidate Answer: 1526

QID : 65 - Which among the following metal was not found in Harappan civilization?

1 FART T A DI AT UTd 88 U7 T8Il H ke UTt 718 off?
Options:
1) Gold

RiiEf

2) Copper
GIE]

3) Silver
ek

4) Iron

E

Correct Answer: Iron

&

Candidate Answer: Iron

E

QID : 66 - Who built Red Fort?

AT ol BT 1T U foh - HarT UT?
Options:

1) Humayun

2) Akbar

3Pk

3) Shah Jahan

1%

RIgsTel
4) Aurangzeb

N

Correct Answer: Shah Jahan

Candidate Answer: Shah Jahan
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QID : 67 - In whose reign Hiuen-Tsang visited India?

fHdh T BT H 53- TIT HR ST UT?
Options:

1) Jalauddin

S5

2) Harshvardhana

BYaYT

3) Jahangir

ERUIN

4) Pandayas

1 sg

Correct Answer: Harshvardhana
BYAYT

Candidate Answer: Harshvardhana
BYaYT

QID : 68 - Set events in chronological order in which they happened.

1. Sepoy mutiny
2. Vasco da Gama reached India
3. Babur started mughal dynasty

Tk TS g1 1 3P BT H HTIR T

1. UGk fa5:18

2. 91 Y S} MHT URd Ugan

3. SR GdRTHITA T 2T h ][ HTd
Options:

1)1,3,2

2)3,1,2

3)2,31

4)3,2,1

Correct Answer: 2, 3, 1

Candidate Answer: 2, 3, 1

QID : 69 - Which of the following planet is farthest from Sun?

A AT H S I § G TG R 82
Options:

1) Saturn

I

2) Jupiter

dg urd

3) Neptune

g9 7101

4) Uranus

3 o1

Correct Answer: Neptune
q9701

Candidate Answer: Neptune
g9 7101

QID : 70 - In ocean, where is 'Benthos' found?

TERITR ¥, 'fad SitaeiTd (F2U1)’ S8l U Sd §

? Options:

1) at bottom of ocean
TENTR & dd ™

2) at upper surface of ocean
HENTR & IWRk Td8 W

3) in an enclosed area of ocean
UENR & Wrad @ o

4) along the shore

acky YW

Staff Selection Commision
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Correct Answer: at bottom of ocean
TENTR & dd |
Candidate Answer: [ NOT ANSWERED ]

QID : 71 - In which continent 'Great Dividing Range' is located?

TeF fauS®  ouft rea HeTedg | O ua g?
Options:

1) North America

I R 38 BT

2) South America

Gf OT 3{H IBT

3) Asia

TR

4) Australia

Correct Answer: Australia
Candidate Answer: Asia
TR

QID : 72 - 'Jog falls' is located on which river?

ST ST UTd fhd ek R O ud 872
Options:

1) Narmada

THar

2) Krishna

il

3) Godavari

TaraRk

4) Sharavati

JRIGC!

Correct Answer: Sharavati
IRTGCT

Candidate Answer: Sharavati

IRTEA

QID : 73 - For a time difference of two hours, the longitudinal distance will be equal to

GrHe & SRIA & U GRMAR Gk & SIS ghTt
Options:

1) 15°

2) 30°

3) 45°

4) 60°
Correct Answer: 30°
Candidate Answer: 30°

QID : 74 - Where does Amoeba digests its food?

SfiET 37T HiSH wel garar
%? Options:

1) Pseudopodia

UlatH

2) Nucleus

P5h

3) Food Vacuole

red Ut

4) Cell membrane

PIFRTDT Ik

Correct Answer: Food Vacuole
wred 31/59
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Candidate Answer: [ NOT ANSWERED ]

QID : 75 - What are female gametes called as?

HIGT g 7 P RATHEd 87
Options:

1) Zygote

g st

2) Ova

SN

3) Sperms

ol

Correct Answer: Ova

Sl

Candidate Answer: Ova

sty

QID : 76 - Which of the following cell organells are present only in plant cell?

1 TfAFEd H Q B U SIS P I UIey HIfRIepT | I od giar

%? Options:
1) Lysosomes

NGRS

2) Plastids
oo s
3) Cell membrane

DIFAPT Ak
4) Mitochondria

HIgel®mio saT
Correct Answer: Plastids
Candidate Answer: Plastids

QID : 77 - Muscles are connected to bones by connective tissue called as

31 ¥ @ AU B s I Al Sdd _dedrr gl
Options:

1) tendon

En

2) ligament

g

3) neuron

19

RSl
4) adipose

qaHa

Correct Answer: tendon
B

Candidate Answer: ligament

g
QID:78-

Options:

1) 1-b, 2-3, 3¢

2) 1-a, 2-¢, 3-b

3)1-c, 2-a,3b

4) 1-a, 2-b, 3

Correct Answer: 1-b, 2-a, 3-c
Candidate Answer: 1-3, 2-b, 3-c

Q1851 Frfisviopiregnarenl MbERYEFR Aifgnan body?
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Options:
1) Circulatory system
EESERUKG]
2) Excretory system
I d
3) Reproductive system
ST
4) Nervous system
dfeerd
Correct Answer: Nervous system
dfeerd
Candidate Answer: Circulatory system
gI=ROTd

QID : 80 - Which contact force is responsible for changing the state of motion of an object?

FHTY TIPS a0 P PRUF IS & T D 39 °TH T Iga- STl
82 Options:
1) Magnetic force

ECERER
2) Frictional force

YUY &t

3) Muscular force

o= 5

4) Electrostatic force

© eRfaeygd oo

Correct Answer: Frictional force
YUY &t

Candidate Answer: Frictional force
Uyl dct

QID : 81 - According to law of reflection:

RETH FIH D TR

Options:
1) Angle of incidence is greater than angle of reflection

SIS0 URTa BT 3P gral &

2) Angle of incidence is smaller than angle of reflection

ST 10 TR ST FASAT S

3) Angle of incidence is always equal to angle of reflection

3T P10 Hed URIIa HI0T b SRISR 81l &

4) Both angles are always unequal
T DIV HT A I B
Correct Answer: Angle of incidence is always equal to angle of reflection

3T P10 Hed URIIa HI0T b SRISR 81l &
Candidate Answer: [ NOT ANSWERED ]

QID : 82 - What is the unit of relative density?

3MTUf & & 9 BT AT & RAT 8?2
Options:

1) kg/m?3
B ol /Hes
2) g/cm?

'.:'T./a—":ﬂ.3
3) mg/mm3
Ak ol /K3
4) No unit
DI HI P 6k §
Correct Answer: No unit
DI HI P 6k §
Candidate Answer: No unit
PIE AT H T8k §
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QID : 83 - Which law/principle states that when a body is immersed fully or partially in a fluid, it experiences an upward force that is equal to the weight of the fluid
displaced by it?

D T 0/ FIG T ST & b oI fh1 d g ) ! avel | QU T 3ifie A TSI g, A 98 S UR & fERTH Uh g B gHa Al g sl a g
TARTTCMRA P HUR & SRR il 82
Options:

1) Boyle's law

daa® a9

2) Charles law

TGP 9T

3) Archimedes principle

3Th fASIN & Faaid

4) Pascal's law

qHAD a9

Correct Answer: Archimedes principle

3P FASIT & TG

Candidate Answer: Archimedes principle

3HTfp FASISI & faGId

QID : 84 - Which among the following is/are not an input devices?

I. Scanner
II. Joystick
I11. Plotter

1 FARId T I B Udh SIYC rSaTed Igko 8?2

I R

II. S e

I ¥R

Options:

1)Only I

Fadl

2) Only I

HIAIl

3) Only III

HIAI

4) Both I and II

[ QTIIgF

Correct Answer: Only III
HaqIIl

Candidate Answer: Only III
HIAI

QID : 85 - Protocol used for receiving an email is

IO BIIWN S oT B P AU BT Siidl 2|
Options:

1) HTTP

T4, k. <k, Ui,

2) FTP

TP, Tk. U,

3) POP -3

o, off. ot - 3

4) SSH

Correct Answer: POP -3
o, off. ot - 3

Candidate Answer: POP -3
o, ot bt - 3

QID : 86 - Tartaric Acid is not found in .
TEIH AW T T8k UTT ST B
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Options:
1) Tamarind
FHk
2) Grapes
SR
3) Unripe mangoes
S T HH
4) Spinach
Ulclsh
Correct Answer: Spinach
LISEa
Candidate Answer: Spinach
Ulclch

QID : 87 - What is the chemical name of quick lime?

T T § 31T I BT WIS A1 RAT
%? Options:

1) Calcium carbonate

Fforgan w19 A

2) Sodium hydroxide

TIreaq gR5-RIRS

3) Calcium oxide

F Porgam sifrargs

4) Calcium sulphate
Formmaase

Correct Answer: Calcium oxide
F Porgom sifrass

Candidate Answer: Calcium oxide
F Porgam sifrargs

QID : 88 - What is the common name of CaOCl>?

CaOCl, T I J -ITH RAT 8?2
Options:

1) Washing soda

IR ST

2) Bleaching powder

AT TSR

3) Baking powder

BT URIST

4) Baking soda

BT ST

Correct Answer: Bleaching powder
AT TSR

Candidate Answer: Bleaching powder
AT TSR

QID : 89 - In a periodic table, while moving from left to right in a period, number of remains same.

3{Tad RO H, Teh AU H I8 A S &1 WR, & I a1 gH= gl ol

Options:
1) electrons

gﬁR o
2) protons
e
3) shells
DI
4) neutrons
g ot
Correct Answer: shells
DI

Candidate Answer: shells
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QID : 90 - Which among the following is an Abiotic component of environment?

1 IR | I T U1 aRU1 6T U 319id bTh
%? Options:

1) Green plants

WAy

2) Non-Green plants
TR-BUy

3) Water

g

4) Parasites

ol

Correct Answer: Water
g

Candidate Answer: Water

qt

QID : 91 - Cellulose fibers are organic pollutant mainly produced by which Industry/Industries?

I. Mining Industry
II. Soap and detergent Industry
III. Paper and Pulp Industry

PO ISANT AT T IR R ST gD AT =T BT 3 UTeA slara?
L. T 3&ART

I1. g TUT FSTHIE IGUNT
III. TST 3R ek ISAT

Options:

1)Only I

FIAl

2)Only II

FIAIl

3) Only III

HIAIIl

4) Both II and III

11 QUTIIL &

Correct Answer: Only III

HIAIIl

Candidate Answer: [ NOT ANSWERED ]

QID : 92 - Which among the following is not a Rabi crop?

9 AfIrRad H 9 P IH & BOd T8k 872

Options:
1) Barley

S
2) Wheat

g
3) Groundnut

T dlk

4) Mustard

B3RS

Correct Answer: Groundnut

Tk

Candidate Answer: Groundnut

Tk

QID : 93 - For which disease, Ministry of Health and Family Welfare has launched 'Test and Treat' policy?

fHIINT P AT 91 48 Ud UIGR H Tl SaRI e € US k' Hifd oRYU P B2
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Options:
1) Chicken pox
EECY
2) HIV
. 3. dl.
3) Polio
i
4) Tuberculosis
T IAT
Correct Answer: HIV
T, 318, 4.
Candidate Answer: Tuberculosis

I

QID : 94 - Laser was invented by .

AR BT IAMIHR A £HaT ATl
Options:

1) A. H. Taylor

T. 09, TR

2) T. H. Maiman

Tk, U9, T

3) Lee De Forest

AT HBRT

4) Thomas Edison

AT TSI

Correct Answer: T. H. Maiman
Tk, T, B

Candidate Answer: T. H. Maiman

Tk, T, A

QID : 95 - Twiddle is associated with .

fasd__ QA9 q Yerd gl
Options:
1) Table Tennis
cTA AT
2) Lawn Tennis
I A
3) Golf
R
4) Swimming
WRIH
Correct Answer: Table Tennis

eTd g
Candidate Answer: [ NOT ANSWERED ]

QID : 96 - 'Madhubani' is a famous folk painting form of which Indian State?

TYSH HRAP AN T P G Al Hellp fl 52

Options:
1) Madhya Pradesh

ayg =
2) Jharkhand

IRGS
3) Bihar

fdeR
4) Uttar Pradesh

IR -

Correct Answer: Bihar

fdgR

Candidate Answer: [ NOT ANSWERED ]

37/59



7/31/2017 Staff Selection Commision

QID : 97 - Who among the following has been designated as UN messenger of peace?

1 FAEd H I ol GGRAT & TMifdgd & fE ATHifhd BT T
2 Options:
1) Gururaja Bhat

TIVRISTT YT
2) Shrinivas Kulkarni

AT P AR
3) Malala Yousafzai
HaT ZYHTE
4) Emma Watson
THT diced
Correct Answer: Malala Yousafzai
HaT ZYHTE

Candidate Answer: Malala Yousafzai

AT GYBSTS
QID : 98 - 'The Red Sari' is written by .

TISTET & ORI Al TS B
Options:

1) Mamta Banerjee

HHAT d1

2) Javier Moro

IR ART

3) Malala Yousafzai

HaT gYHTE

4) Neel Mukherjee

Hia gEs

Correct Answer: Javier Moro

ST ART
Candidate Answer: [ NOT ANSWERED ]

QID : 99 - Which country will host 9t BRICS summit?

T4t BRICS T AT foh ASTATHT DI AT A= HXM?
Options:
1) Brazil
2) China
Eigl
3) Russia
E3l
4) India
HRd
Correct Answer: China
==

Candidate Answer: China

ElE|

QID : 100 - Which of the following is not a member of Indian Ocean Rim Association (IORA)?

1 T H A DI fec HERTR dekd | <1 GganT 9 (IORA) &1 TG T T8k
%? Options:

1) Bangladesh

i AGRT

2) Mauritius

R/

3) Afghanistan

STBATT AT

4) India

HRd
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Correct Answer: Afghanistan

S -
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Candidate Answer: Afghanistan
S -

QID : 101 - How many factors of 108 is/are prime number?

108 & fhcH UMES SHUT T AT 3/8?

Options:
1)2

2)3
3)5

4)6
Correct Answer: 2
Candidate Answer: 5

QID : 102 - Which of the following expression(s) is/are true?

LV5+V5>v2+V8
I.V3+V7>V2+V8
II. V5 + V5 > V3 + V7

9 AR 7 9 B GI/BIH T Toldh Tgk 2/8?

LV5+V5>v2+V8
IL.V3+V7>V2+V8
L. V5 + V5 > V3 + V7

Options:

1)Only I

Fadl

2) Only I and III

HaA ATl

3) Only I

HIAIl

4) All expressions are true

Tt IS Bk B

Correct Answer: All expressions are true
vt IS Bk B

Candidate Answer: All expressions are true
Tt 5% TBk B

QID : 103 - Which of the following expression(s) is/are true?

1. 337 is a prime number.
II. The number 12 has 6 positive factors.
II1. 32724 is completely divisible by 9.

1 Frarad T 9 DI TI/DHH T o Tk 8/8?
1. 337 U JUT T I AT 3

ILEAT12 P 6 YT 7 UGS g

IIL. 32724 QUI:: 9 A HT T ]|

Options:

1)Only I

Fadl

2)OnlyIand II

FIAI U

3) Only IT and III

FaA I qUTIII

4) All expressions are true

Tt TSI Bk ®

Correct Answer: All expressions are true
Tt TSI Bk ®

Candidate Answer: All expressions are true
Tt TSI Bk ®

Staff Selection Commision
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QID: 104 -

Options:
1)

2)
3)

4) All are equal

It SRIeR 8

Correct Answer: All are equal
I RER T

Candidate Answer: All are equal
I RER T

QID : 105 - What is the value of (1004)2 —(998)%?

(1004)2 - (998)2 HTH RATR?

Options:
1) 11012

2) 12012
3) 120012

4) 1212
Correct Answer: 12012
Candidate Answer: 12012

QID: 106 - A and B together can complete a work in 15 days. They started together but after 5 days A left the work. If the remaining work is completed by B in 15
more days, then A alone can complete the entire work in how many days?

A TUT B Th BT &1 fHADR 15 fGT 7 RIHR DA 8| I TP AU B HIAT oRU BRI & W5 o b IIG A P DI SIS a1 ¢ | TS AT S T HIA T B
P 15 foT IR W, WA 3% T R BT B fha fad H G HA?

Options:
1) 25

2) 50
3)35

4) 45
Correct Answer: 45
Candidate Answer: 45

QID : 107 - P is 20% more efficient than Q. If Q alone can finish a work in 10 days, then in how many days P alone will finish the work?

P, Q ¥ 20% 3iftfh TP I 8| Tf Q 31 T fHUT B B 10 fod T TR BR Fobdl 8, Al P 3 A1 SY B B fobe fod | R

HA?

Options:
1)

2)85
3)9

4) 12
Correct Answer:
Candidate Answer:

QID : 108 - The ratio of marked price and cost price of an article is 6 : 5. If 15% discount is given, then how much is the profit (in percent)?

TH TP 3ifhd I IUT T T BT U 6 : 5 81 TG 15 FARIA P G Gk S, o A1 ( FIRId 1) RAT

%? Options:
1)4

2)0.2
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3)2

4)1
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Correct Answer: 2
Candidate Answer: 2

QID : 109 - Out of the following, which is the best discount for a customer?

1. 50% + 50% off
1I. 60% + 40% off
II1. 70% + 30% off
IV. Buy 1 get 4

A TFARIT T T, SUHRAT P AL Yo 4B T HIA A 2?
1. 50% + 50% & BT
IL. 60% + 40% & §<T
IIL. 70% + 30% & §<T
IV. 1 ERKS 4 TR
Options:

1)Only I and IV
HIAL AUV

2) Only II

HIAI

3)Only I, II and III
FaAI, 11 YTl

4) Only III

HIAIII

Correct Answer: Only III
F A

Candidate Answer: Only III
a1l

QID:110-

Options:
1)3

2)2
3) 4/3

4)7/3
Correct Answer: 3
Candidate Answer: 3

QID : 111 - In a mixture, milk and water are in ratio of 2 : 3. Some milk is added to the mixture because of which ratio of milk and water becomes 2 : 1. How much
milk was added as a percentage of initial mixture?

TH A UTH, QUAATUFI 2 : 3F U AT A UTH S B g A T oS U TUT U &1 AU 2 1 1 81T RFUS fH U1 faRid J
e aT g AT T 87

Options:
1)75

2) 60
3)80

4) 50
Correct Answer: 80
Candidate Answer: 80

QID : 112 - The average of marks obtained by A and B is 15 less than that of average marks obtained by B and C. If the marks obtained by C is 65, what is the
marks obtained by A?

ATYUTB GART «Td 3 BT 3NYd B qUTC ART T d 3 & MTT Y 15 FH R TS C GART T o 3 65 8, A A TaRT T I 3/ RAT&?
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Options:
1)35

2)50
3) 65

4) 80
Correct Answer: 35
Candidate Answer: 35

QID: 113 - What is the average of squares of first 10 natural numbers?

YT 10 TP b T T3 P i b1 3 RATB?

Options:
1) 555

2) 456
3) 38,5

4) 40.5
Correct Answer: 38.5
Candidate Answer: 38.5

QID : 114 - Cost price and selling price of an article are in ratio 13 : 9. If the loss incurred on article is Rs 320, what is the sum (in Rs) of cost and selling prices?

THA D T IU T T I P AUM 13 : 981 G T U320 v. & BIFA B &, Al T AU £ T I HIAIS (V. H)
fodT 82 Options:

1) 1480

2) 1620

3) 1500

4) 1760
Correct Answer: 1760
Candidate Answer: 1760

QID : 115 - By selling 64 apples for Rs 60 a person gains 25%. In order to have 40% loss, how many apples shall he sell for Rs 36?

64 TF DI 60 v. T I TR Teh FAIRT BT 25% HT <MY BT Bl 40% P BT & T, 39 36 V. H fha- A 99 IET?

Options:
1) 80

2) 70
3) 60

4) 50
Correct Answer: 80
Candidate Answer: 80

QID : 116 - A mixture contains 18% copper by weight. How much mixture (in kg) is required to obtain 81 kg of copper?

TP fH T HHR & 3TAR 18% AIaTR 1 81 . oT. dlal oT T B P a4 fba- 7 U (fh. of. T) &
G{TH9HW%? Options:

1) 350

2) 300

3) 450

4) 250

Correct Answer: 450
Candidate Answer: 450

QID : 117 - A person spends 30% of his income on food, 20% on children's education and 60% of remaining on house rent. What percent of income is left with
him?

Th RART 31T ST HT30% HISH TR, 20% I P 2 T TR AT AT BT 60% TR P B TR TT BT | SHP UTH 3T BT fha-T fI=Id AN 01 872
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Options:
1) 20
2)30
3)35
4) 25
Correct Answer: 20
Candidate Answer: 20

QID : 118 - A man rides his vehicle at the rate of 36 km/hr but stops for 12 minutes, to change parts at the end of every 14™ km. What will be the timed taken to
cover a distance of 90 km?

T IR SO aT8+ 36 6. 11, /HeT & R A T 8 WG AP 14 1%, 1. TR Yo¥i B! 9GT- & AU 12 fAFC P AT T gl 90 fH. 1. T gk & AT o
HA D AU foHd=T THY TERIT?
Options:

1) 6 hour 12 minutes

6 ©c 12 fOC

2) 2 hours 30 minutes

2 €¢ 30 {7

3) 3 hours 42 minutes

3 H¢ 42 {7

4) 5 hours 32 minutes

5 ¢ 32 e

Correct Answer: 3 hours 42 minutes

3T 42 fC

Candidate Answer: 3 hours 42 minutes
3¢ 42 {7

QID : 119 - A walks at a uniform speed of 8 km/hr and 8 hours after his start, B starts on his cycle after him at speed of 24 km/hr. How far (in km) from the
starting point will B catch A?

A, 8 f.Ht./8eT & THIHM Td I Tadl € U1 ITP RUEH S 8 TS & TodTd, B 30+ JT3fhd I 24 . Hl./HeT & Tfd I ST TS fAbadrigl
SR 4 g I fahd- gk (fF. 11, T) TR B, A Bl THST?

Options:

1) 72

2)%

3) 120

4) 144
Correct Answer: 96
Candidate Answer: 96

QID : 120 - What is the rate (in percent) of simple interest at which a sum of money becomes three times of itself in 50 years?

TIYRYT TS & R (A= H) fHa-it 8 7o IR HIg Y=RIFRI50 I H 9 P R &l St 82

Options:

1)2

2)4

3)5

4)8

Correct Answer: 4
Candidate Answer: 4

QID: 121 - A sum of Rs 3100 is lent out at simple interest in two parts. One at 8% per annum and another at 6% per annum. If the total annual interest is Rs 212,
then what is the money (in Rs) lent at rate of 8%?

3100 v. ® U YRR G YT T YR 7S] TR SYR Gk ST &1 U U1 8% & X A dUT A T UFT R 6% & X ¥ 01 Oidll ¢ | TG $ & I TS 212 V.
g @
8% % IR UR Sk TS YRR (V. H) RAT &2
Options:
1) 1000
2) 1250
3) 1300
4) 1400
Correct Answer: 1300
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Candidate Answer: 1300
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QID:122-

How many females read newspaper A?

fohd-t HfETTd THRR-T A UG 82
Options:

1) 3600

2) 3200

3) 2400

4) 2800
Correct Answer: 2400
Candidate Answer: 2400

QID:123-

What is difference in number of males reading newspaper B and number of males reading newspaper D?

THER-U B UGH I Qv AT IHER-U D UgA A Qv & X T H T 3R
i Options:

1) 1600

2) 2000

3) 2400

4) 800
Correct Answer: 800
Candidate Answer: 800

QID: 124 -

For which two newspaper the number of females reading them is same?

PHTI S JIRR-U HI UG diclk Afgasii & I I1 JHM 82
Options:

1)DandE

D dUTE

2)CandE

CdYTE

3)AandB

ATYUTB

4)AandC

AQTYUIC

Correct Answer: Aand B
ATYUTB

Candidate Answer: A and B
ATYUTB

QID: 125 -

By how much percent females reading newspaper E are more than the males reading newspaper C?

JHRIR-U E g didk AfATE, YHRIR-U C UG aTd Qv I foba IR 3ffefh 87

Options:
1) 233.33

2) 133.33
3) 266.66

4)333.33
Correct Answer: 133.33
Candidate Answer: 133.33
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QID : 126 - If length and breadth of a cuboid is increased by 20%, then by how much percent the height should be reduced to keep the volume same?

TfE TP TIH & o T dUT TSI BT 20% THT ST, dl STP S 18 B! fbdT fI=Id HH fhdT ST THeT oo f ITHT ?
3T 310 afad

Options:

1) 40

2) 44

3)

4)

Correct Answer:

Candidate Answer:

QID : 127 - The volume of a conical tent is 154 cm? and the area of its base is 38.5 cm2. What is the length (in cm) of canvas required to build the tent, if the
canvas is 2 cm in width?

E:;ETRWQ TP AT 154 A3 T AU ITP NMYR BT ' BA 385 A H 2B GE T cH ST I HUS P Ao 2 4. g, AT H T & U
Sl

@ 9) FUS ® 3Maogdmal

%? Options:

1) 71.35

2) 68.75

3)73.25

4)75.75

Correct Answer: 68.75
Candidate Answer: [ NOT ANSWERED ]

QID : 128 - A metallic sphere is melted and moulded to form conical shaped bullets. If radius of the bullet is a twice of its height and radius of bullet is half of the
radius of the metallic sphere, then what is the numbers of bullet formed?

T YIS 96 A D1 FIIATRR U QRATHR Mred H STl ST & | TG SU Mk D £ AT SR 3 I18 A SR 81 qUT ek & £ AT g MA@ f
a1 ¥ reft 1, A ey & I AT RATR?

Options:

1)32

2) 16

3)128

4) 64
Correct Answer: 64
Candidate Answer: 64

QID : 129 - A chord of length 24 cm is drawn in a circle of diameter 40 cm. Another chord of length 32 cm is drawn in the same circle parallel to 24 cm long chord.
What is the minimum distance (in cm) between them?

T 40 9.7, T 1A § T WR 24 .1, F T Siiar T ol 81 Uep iR sftar fooras @ a1 32 3.4, 8 S g a1 24 .. T 918 aTaik SiiaT b JHaR
Aot gI 9 & fa® gaad @k (.. 1) bl gt

Options:

1)4

2)2

3)8

4)3

Correct Answer: 4
Candidate Answer: 4

QID : 130 - If the length of a rectangle is increased by 50%, then by how much percent its breadth should be reduced to keep the area the same?

Gfg U 3Od & o 918 HI 50 FARIT ST SIIAT 8, dl TP AISTS Bl fha-l HH fhaT ST AT fOSE fob ST | 4)
T 3T TG :,:
Options: r
1)50 r

e
2) c

t
3)

A
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nswer:
®?

Candidate Answer:
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QID:131-

Options:
1)-81

2) 148
3)-243

4) 227
Correct Answer: — 243
Candidate Answer: — 243

QID:132-

Options:
1)1

2)0
3)2

4)-1
Correct Answer: 0
Candidate Answer: 0

QID: 133 - If x3 + 6x2 + 12x = 19, then what is the value of x3?

TfE X3 + 6x2 + 12x = 19 Bl, A x3 BTAMRATR?
Options:

1)8

2)27

3)-1

4)1
Correct Answer: 1
Candidate Answer: 1

QID:134-

Options:
1) 2/5

2)3/5
3) 4/5

4) 1/5
Correct Answer: 2/5
Candidate Answer: 2/5

QID: 135 - If X2 + 16 = -4x, then what is the value of x* - 64?

TfE X2 + 16 = -4x BT, A x3 - 64 HTAM RATR?

Options:

1) 128

2)0

3)64

4) 256

Correct Answer: 0
Candidate Answer: 128

QID : 136 - PQRS is a rectangle, A, B, C and D are the mid points of sides PQ, QR, RS and PS respectively. If area of APQR is 48 cm?, then what is the area (in
cm?) of ABCD?

PQRS U® 3T, A, B, CAUTD HRT: YST3{T PQ, QR, RS IUTPS & H T fd g &1 TG APQR HT | Tl 48 .12 §, O ABCD &7 © TheT (J.11.2 H) RUT &7
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Options:

1) 24

2)6

3)16

4) 12

Correct Answer: 24
Candidate Answer: 24

QID : 137 - If PA is the median of the triangle PQR and G be the centroid, then what is the ratio of (PA + GA) : (PG — GA)?

gfq PA, f YT PQR & o BT AUTG H 5% 8T, I (PA + GA) : (PG — GA) T 3fgUrd
R?IIT%? Options:

1)4:1

2)3:1

3)2:1

4)3:2
Correct Answer: 4: 1
Candidate Answer: 4 : 1

QID : 138 - In a APQR, PD is the median and G is centroid. If PG = 24 cm, then what is the length (in cm) of PD?

APQR ¥, PD U HIf> BT dUTG & 5% ¢ | Tfe PG = 24 A1, 8, APD & &1 (}. . 1) RAT8?

Options:

1) 48

2)36

3) 60

4)72

Correct Answer: 36
Candidate Answer: 36

QID : 139 - The tangents drawn at the point P and Q of a circle centered at O meet at A. If 2POQ = 120°, then what is the ratio of 2PAQ : £PAO?

TS JIPOTIHIFH 508 F fAgP qUTQ W UH U AT Wil Sl 8, Sl fa g A TR fHEC & | TfG £ POQ = 120° B, f £ PAQ : £ PAO T 3{JUTd RAT
® Options:

1)2:3

2)4:1

3)2:1

4)5:2
Correct Answer: 2 : 1
Candidate Answer: 2 : 1

QID : 140 - ABCD is a trapezium, such that AB = CD and AD||BC. AD = 10 cm and BC = 18 cm. If the area of ABCD is 70 cm?, then what is the value (in cm) of
CD?

ABCD T SRHIdRYS 8, fOSRIT AB = CD JUTAD||BC 81 AD = 10 9.7f}. GuTBC = 18 V.. 1 TfS ABCD &1 ' Wt 70 V.12 8, Il €D &1 A (.7, 1) AT

® Options:

1)5

2) V29

3)v41

4)6

Correct Answer: V41
Candidate Answer: V41

QID : 141 - What is the value of sin (30 + x) — cos (60 — x)?

sin (30 + X) — cos (60 — x) BT A RATE?

Options:
1)1

2)2
3)0

4)1/2
Correct Answer: 0
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Candidate Answer: 0

QID : 142 - What is the least value of 15 cos? 6 + 17 sin? 6?

15 cos2 8 + 17 sin? 8 BT TAdH U RATR?

Options:

1) 14

2) 15

3)2

4) 18

Correct Answer: 15
Candidate Answer: 15

QID: 143 -

Options:
1)

2)
3)

4)
Correct Answer:
Candidate Answer:

QID: 144 -

Options:
1) 17/12

2)-53/28
3)-27/25

4) 31/23
Correct Answer: — 53/28
Candidate Answer: — 53/28

QID: 145 -

Options:
1)1

2) 113
3) 12

4)2
Correct Answer: 2
Candidate Answer: 2
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QID: 146 -
The given pie chart shows the monthly expenditure
on various items and monthly saving of a
household. The same distribution is followed for all
the months of the year.

fer o g7 o & e gfeoh & Rafdew 9
THATT WX AHG T TAT AfYH a9d & QM7
T 9§ & Tt AdEt & o gaEe faawer amg
g Bl

Bills / faer
Education/. 8% Fuel / §tret
v 20%
14%

Clothing/ Household
FUS items / B
20% A

Saving/ 28%
CEG)
10%

If monthly income is Rs 50000, then how much is spent (in Rs) on Fuel?

TG RIS 3T 50000 V. §, T & IR T < (v. T) B 3 8?

Options:
1) 12000

2) 10000
3) 13500

4) 15000
Correct Answer: 10000
Candidate Answer: 10000
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The given pie chart shows the monthly expenditure
on various items and monthly saving of a

household. The same distribution is followed for all
the months of the year.

for o g7 R # e gfRoh & Rfdes 9
HHET W AMAE <TT JAT AfYF g=9d & ST
I & a9 & mef #dEr & R gaEe faawer ang

g &l
Bills / faer
Education/ 8% Fuel / $traT
fram 20%
14%

Clothing/ Household
q-,-q—gg items / B
20% e

0,
Saving/ 28%
CER]
10%

If monthly income is Rs 65000, then what is the difference (in Rs) between expenditure on Household items and Clothing?

TfE THAD 3T 65000 V. B, T TR IHH TUT HTS W B aTd I (v. H) T T fhd-T 3R 87

Options:

1) 5200

2) 6500

3) 7200

4) 4500

Correct Answer: 5200

Candidate Answer: 5200
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QID: 148 -
The given pie chart shows the monthly expenditure
on various items and monthly saving of a
household. The same distribution is followed for all
the months of the year.

fer o g7 o & e gfeoh & Rafdew 9
THATT WX AHG T TAT AfYH a9d & QM7
T 9§ & Tt AdEt & o gaEe faawer amg
g Bl

Bills / faer
Education/. 8% Fuel / §tret
v 20%
14%

Clothing/ Household
FUS items / B
20% A

Saving/ 28%
CEG)
10%

If Rs 2400 are saved per month, then what is the monthly salary (in Rs) of the household?

Tfg, fTHTE 2400 V. & STd & Sl g, AR T AIHAD 3 (V. 1)

RTT2? Options:
1) 24000

2) 20000
3) 30000

4) 18000
Correct Answer: 24000
Candidate Answer: 24000
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QID: 149 -
The given pie chart shows the monthly expenditure
on various items and monthly saving of a
household. The same distribution is followed for all
the months of the year.

for o g7 R # e gfRoh & Rfdes 9
HHET W AMAE <TT JAT AfYF g=9d & ST
I & a9 & mef #dEr & R gaEe faawer ang

g &l
Bills / faer
Education/ 8% Fuel / $traT
v 20%
14%

Clothing/ Household
q-,-q—gg items / B
20% [T

0,
Saving/ 28%
CER]
10%

If the difference in monthly expenditure on Fuel and Bills is Rs 4800, then what is the annual income of household?

Tfg, &= JUT fIel TR B aTa JIFAS 9 H 4800 V. BT R 8, IR S aHYD T (V. H) fHail

%? Options:
1) 660000
2) 600000
3) 540000
4) 480000

Correct Answer: 430000
Candidate Answer: 430000



7/31/2017 Staff Selection Commision
QID: 150 -
The given pie chart shows the monthly expenditure
on various items and monthly saving of a
household. The same distribution is followed for all
the months of the year.

fer o @ R & e foh & Rffes =
THTET W AMAG T JAT AP aod  H ST
T E a9 & Tl FEEr & o wEe faaRer @ng
g ¥l

Bills / f&rer
Education/ 8% Fuel / $ta1
fRrem 20%
14%

Clothing/ Household
FI2 items / B
20% e

Saving/ 28%
CEG)
10%

If the difference in monthly expenditure on clothing and education is Rs 9000, then what is the difference (in Rs) in yearly saving and yearly expenditure on Bills?

Tfg HUS WR B aTd HIFRID 0 T 3R 9000 V. B, T TS Seid 9T fadd UR 811 aTdl aifNes I8 B 3faR (V. H) RAT

3? Options:
1) 64000

2) 76000
3) 36000

4) 48000
Correct Answer: 36000
Candidate Answer: 36000

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Dr. Ritu was explain the (1)/ benefits of doing yoga at (2)/ least four times a week. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 1

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

After 70 years of independence many (1)/ socio-economic problems is still (2)/ remaining to be solved in India. (3)/ No error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2
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Candidate Answer: 2

QID : 153 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Gurgaon is full of tall buildings which is (1)/ at once its strength as well as weakness (2)/ depending upon how one looks at it. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 154 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Unless you do not (1)/ give up bad habits (2)/ you will suffer. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 1

QID : 155 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Vegetables as well as fruits (1)/ have fallen considerably (2)/ in prices in recent days. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 4

Candidate Answer: 4

QID : 156 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Everyone was greatly assured Roshni's awkward behaviour during the wedding ceremony.
Options:

1)on

2) at

3) of

4) for

Correct Answer: of

Candidate Answer: of

QID : 157 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Deepak agreed all my views but his parents did not.
Options:

1) of

2) with

3)on

4) to

Correct Answer: to

Candidate Answer: with

QID : 158 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

It was very hot, you your jackets.
Options:

1) need not bring

2) need not have brought

3) need not brought

4) need not had been brought

Correct Answer: need not have brought
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Candidate Answer: need not brought

QID : 159 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

I do not know where Akansha lives because I have been of touch for quite sometime.

Options:
1) out

2) hardly
3) scarcely
4) her

Correct Answer: out
Candidate Answer: hardly

QID : 160 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Rahul was with a natural talent for painting.
Options:

1) given

2) entrusted

3) showered

4) endowed

Correct Answer: endowed
Candidate Answer: endowed

QID : 161 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Fatuous

Options:
1) prudent
2) irrational
3) senile
4) renewal

Correct Answer: irrational
Candidate Answer: [ NOT ANSWERED ]

QID : 162 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Bustle
Options:
1) quiet
2) fragile
3) haste
4) gloomy

Correct Answer: haste
Candidate Answer: [ NOT ANSWERED ]

QID : 163 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Sauciness

Options:

1) assistance

2) impudence
3) meekness

4) venerate

Correct Answer: impudence
Candidate Answer: [ NOT ANSWERED ]

QID: 164 -

In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Congruous

Options:

1) absurd

2) balanced

3) hidden

4) diligent

Correct Answer: balanced
Candidate Answer: hidden
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QID: 165 -

In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Contradict

Options:

1) sanction
2) repose

3) despicable
4) confront

QID: 166 -

In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Trivial
Options:

1) shallow
2) profound
3) immature
4) reckless

Correct Answer: profound
Candidate Answer: profound

QID: 167 -

In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Flagitious

Options:

1) immoral

2) virtuous

3) profligate

4) displease

Correct Answer: virtuous

Candidate Answer: [ NOT ANSWERED ]

QID: 168 -

In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Abridge
Options:
1) stretch
2) curtail
3) pacify
4) violate

Correct Answer: stretch
Candidate Answer: [ NOT ANSWERED ]

QID: 169 -

In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Solicit

Options:

1) sanction

2) scorn

3) prohibit

4) disguise

Correct Answer: prohibit

Candidate Answer: [ NOT ANSWERED ]
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QID:170 -

In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Substantial

Options:

1) doubtful
2) reliable
3) florid

4) enormous

Correct Answer: doubtful
Candidate Answer: [ NOT ANSWERED ]

QID : 171 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

a green horn

Options:

1) an inexperienced man
2) a dangerous man

3) suspicious man

4) a wise person

Correct Answer: an inexperienced man
Candidate Answer: [ NOT ANSWERED ]

QID : 172 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

to paddle once own canoe

Options:

1) thoughtful

2) manage independently
3) to praise oneself

4) working vigorously

Correct Answer: manage independently
Candidate Answer: to praise oneself

QID : 173 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

to keep the pot

Options:

1) to sharper my wits

2) to be cautious

3) to keep controversy alive
4) to repent

Correct Answer: to keep controversy alive
Candidate Answer: [ NOT ANSWERED ]

QID : 174 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

to beat the air

Options:

1) to settle a dispute

2) to gamble

3) to make efforts that are useless
4) to try to do the impossible

Correct Answer: to make efforts that are useless
Candidate Answer: to make efforts that are useless

QID : 175 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

threw a spanner

Options:

1) reverie

2) disinterested
3) sabotage

4) boasting

Correct Answer: sabotage
Candidate Answer: [ NOT ANSWERED ]

QID : 176 - Improve the bracketed part of the sentence.

Sunil didn't pay any heed to his superior's instructions, (I did neither).
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Options:

1) nor did I

2) neither didn't I
3) I either did

4) No improvement

Correct Answer: nor did I
Candidate Answer: I either did

QID : 177 - Improve the bracketed part of the sentence.

The Arabian Nights (have been written) by Edward William Lane.

[, Yo T PR

3)have written

4) No improvement

Correct Answer: has been written
Candidate Answer: has been written

QID : 178 - Improve the bracketed part of the sentence.

Ashina (hesitated to listen to) what her elder sister was saying.
Options:

1) hesitating to listen to

2) hesitates in listening to

3) hesitate listened to

4) No improvement

Correct Answer: No improvement
Candidate Answer: hesitate listened to

QID : 179 - Improve the bracketed part of the sentence.

Nitin assured Ankit that he (would look at) his work while he was on leave.
Options:

1) would over look

2) would look after

3) will look

4) No improvement

Correct Answer: would look after
Candidate Answer: would look after

QID : 180 - Improve the bracketed part of the sentence.

(When the weather was) cold, I wear monkey cap.

Options:

1) When weather is

2) When the weather is
3) While the weather is
4) No improvement

Correct Answer: When weather is
Candidate Answer: When the weather is

QID : 181 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Lifeless objects

Options:

1) amateur

2) inanimate

3) alien

4) amnesty

Correct Answer: inanimate

Candidate Answer: inanimate

QID : 182 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A court or open space usually rectangular and enclosed by a building
Options:

1) quadragenarian

2) quadrilateral

3) quadrangle

4) quadruped

Correct Answer: quadrangle
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Candidate Answer: quadrangle

QID : 183 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Bringing about gentle and painless death from incurable disease

Options:

1) euthanasia

2) sty

3) canicide

4) suicide

Correct Answer: euthanasia

Candidate Answer: [ NOT ANSWERED ]

QID : 184 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

One who lives on fish

Options:

1) carnivorous
2) baccivorous
3) aurivorous
4) piscivorous

Correct Answer: piscivorous
Candidate Answer: piscivorous

QID : 185 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Line at which the earth or sea and sky seem to meet
Options:

1) nadir

2) zenith

3) horizon

4) trivet

Correct Answer: horizon

Candidate Answer: horizon

QID : 186 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) stratagem

2) repentence

3) corrigendum

4) alliteration

Correct Answer: repentence

Candidate Answer: stratagem

QID : 187 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) napthalene

2) impeccable

3) stupefy

4) psychiatrist

Correct Answer: napthalene
Candidate Answer: stupefy

QID : 188 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) fulfill

2) wilful

3) skelful

4) shameful

Correct Answer: skelful

Candidate Answer: skelful

QID : 189 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) sergant

2) pedestal

3) scavenger

4) luminescent

Correct Answer: sergant
Candidate Answer: scavenger
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QID : 190 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) mellifluence

2) centenarian

3) plebisite

4) analysable

Correct Answer: plebisite

Candidate Answer: [ NOT ANSWERED ]

QID : 191 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

A is made, not born. The process begins when someone hits upon a bright new way of stating a experience. At that point the remark is an
But it is particularly as well as catchy, the saying receives wide circulation as verbal coin. Soon it is likely to be from overwork.

A is made, not born.
Options:

1) nuance

2) coinage

3) cliche

4) current

Correct Answer: cliche

Candidate Answer: coinage

QID : 192 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

A is made, not born. The process begins when someone hits upon a bright new way of stating a experience. At that point the remark is an
But it is particularly as well as catchy, the saying receives wide circulation as verbal coin. Soon it is likely to be from overwork.

new way of stating a experience.
Options:

1) common

2) authentic

3) mental

4) rational

Correct Answer: common

Candidate Answer: rational

QID : 193 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

A is made, not born. The process begins when someone hits upon a bright new way of stating a experience. At that point the remark is an
But it is particularly as well as catchy, the saying receives wide circulation as verbal coin. Soon it is likely to be from overwork.

the remark is an

Options:

1) epigram

2) epitaph

3) epilogue

4) epicenter

Correct Answer: epigram
Candidate Answer: epigram

QID : 194 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

A is made, not born. The process begins when someone hits upon a bright new way of stating a experience. At that point the remark is an
But it is particularly as well as catchy, the saying receives wide circulation as verbal coin. Soon it is likely to be from overwork.

it is particularly
Options:

1) vague

2) apt

3) ingenuine
4) emotional
Correct Answer: apt

Candidate Answer: ingenuine

as well as catchy
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QID: 195 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given
blank out of the four alternatives.

A is made, not born. The process begins when someone hits upon a bright new way of stating a experience. At that point the remark is an
But it is particularly as well as catchy, the saying receives wide circulation as verbal coin. Soon it is likely to be from overwork.

likely to be from overwork.

Options:

1) judged

2) suffering

3) overlooked

4) inducing

Correct Answer: suffering
Candidate Answer: inducing

QID : 196 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

The rural economy is an important segment of the ecosystem and accounts for around 70 percent of employment and 50 percent of GDP with agriculture being the
main driver followed by services and manufacturing. It is largely unorganized and hence those working in rural India or consuming in this economy are a different
category of economic agents driven by different factors. The economy is quite complex in so far as the fact that cash dominates in terms of transactions and while
there has been some intrusion of the use of credit (kisan) and debit cards and ATMs, dependence on technology driven payments system is limited. This has hence
also become a haven for routing black money both in terms of seeking tax exemptions by channeling funds, to convert to legitimate funds. But a lot of black money
gets into land and ' apparent rural activity '

. Now consider some aspects of this economy and the cash conundrum. Almost all transactions in the mandis (there are above 7,000 organized ones and over double
the number that is unorganized), are based on cash as it is easy to use. The farmers prefer to receive cash and while some do take in cheques there is a sense of
doubt if the counter party is unknown. Hence one reason why electronic mandis is a good idea is that payments can also be made through the electronic mode as all
transactions would be e-enabled. The recent demonetization has caused significant distortions as farmers are unable to sell their goods. This has happened just
when we are in middle of the kharif harvest which involves rice, soybean, cotton, maize, sugarcane, bajra, besides fruits and vegetables which are all year through.
The second issue for Indian agriculture is the rabi season which has begun where farmers start sowing their seeds. The issue here is less serious as a large part is
backed by credit where the prevalent cash crunch may not matter. It would only be at the margin that farmers may be impacted, and hence the pain here would be
secondary.

According to the passage, which among the following is the major contributor to India's GDP growth?
Options:

1) Services

2) Agriculture

3) Manufacturing

4) FDIs

Correct Answer: Agriculture
Candidate Answer: Agriculture

QID : 197 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

The rural economy is an important segment of the ecosystem and accounts for around 70 percent of employment and 50 percent of GDP with agriculture being the
main driver followed by services and manufacturing. It is largely unorganized and hence those working in rural India or consuming in this economy are a different
category of economic agents driven by different factors. The economy is quite complex in so far as the fact that cash dominates in terms of transactions and while
there has been some intrusion of the use of credit (kisan) and debit cards and ATMs, dependence on technology driven payments system is limited. This has hence
also become a haven for routing black money both in terms of seeking tax exemptions by channeling funds, to convert to legitimate funds. But a lot of black money
gets into land and ' apparent rural activity '

. Now consider some aspects of this economy and the cash conundrum. Almost all transactions in the mandis (there are above 7,000 organized ones and over double
the number that is unorganized), are based on cash as it is easy to use. The farmers prefer to receive cash and while some do take in cheques there is a sense of
doubt if the counter party is unknown. Hence one reason why electronic mandis is a good idea is that payments can also be made through the electronic mode as all
transactions would be e-enabled. The recent demonetization has caused significant distortions as farmers are unable to sell their goods. This has happened just
when we are in middle of the kharif harvest which involves rice, soybean, cotton, maize, sugarcane, bajra, besides fruits and vegetables which are all year through.
The second issue for Indian agriculture is the rabi season which has begun where farmers start sowing their seeds. The issue here is less serious as a large part is
backed by credit where the prevalent cash crunch may not matter. It would only be at the margin that farmers may be impacted, and hence the pain here would be
secondary.

What has become a haven for routing black money in India?
Options:

1) Cash transactions over digital cash transactions

2) Intrusion of credit cards

3) Prevailing debit cards

4) Technology driven payment

Correct Answer: Cash transactions over digital cash transactions
Candidate Answer: Technology driven payment
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QID: 198 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

The rural economy is an important segment of the ecosystem and accounts for around 70 percent of employment and 50 percent of GDP with agriculture being the
main driver followed by services and manufacturing. It is largely unorganized and hence those working in rural India or consuming in this economy are a different
category of economic agents driven by different factors. The economy is quite complex in so far as the fact that cash dominates in terms of transactions and while
there has been some intrusion of the use of credit (kisan) and debit cards and ATMs, dependence on technology driven payments system is limited. This has hence
also become a haven for routing black money both in terms of seeking tax exemptions by channeling funds, to convert to legitimate funds. But a lot of black money
gets into land and ' apparent rural activity '

. Now consider some aspects of this economy and the cash conundrum. Almost all transactions in the mandis (there are above 7,000 organized ones and over double
the number that is unorganized), are based on cash as it is easy to use. The farmers prefer to receive cash and while some do take in cheques there is a sense of
doubt if the counter party is unknown. Hence one reason why electronic mandis is a good idea is that payments can also be made through the electronic mode as all
transactions would be e-enabled. The recent demonetization has caused significant distortions as farmers are unable to sell their goods. This has happened just
when we are in middle of the kharif harvest which involves rice, soybean, cotton, maize, sugarcane, bajra, besides fruits and vegetables which are all year through.
The second issue for Indian agriculture is the rabi season which has begun where farmers start sowing their seeds. The issue here is less serious as a large part is
backed by credit where the prevalent cash crunch may not matter. It would only be at the margin that farmers may be impacted, and hence the pain here would be
secondary.

Which among the following is not a kharif crop?
Options:

1) Bajra

2) Maize

3) Rice

4) Wheat

Correct Answer: Wheat

Candidate Answer: Wheat

QID : 199 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

The rural economy is an important segment of the ecosystem and accounts for around 70 percent of employment and 50 percent of GDP with agriculture being the
main driver followed by services and manufacturing. It is largely unorganized and hence those working in rural India or consuming in this economy are a different
category of economic agents driven by different factors. The economy is quite complex in so far as the fact that cash dominates in terms of transactions and while
there has been some intrusion of the use of credit (kisan) and debit cards and ATMs, dependence on technology driven payments system is limited. This has hence
also become a haven for routing black money both in terms of seeking tax exemptions by channeling funds, to convert to legitimate funds. But a lot of black money
gets into land and ' apparent rural activity '

. Now consider some aspects of this economy and the cash conundrum. Almost all transactions in the mandis (there are above 7,000 organized ones and over double
the number that is unorganized), are based on cash as it is easy to use. The farmers prefer to receive cash and while some do take in cheques there is a sense of
doubt if the counter party is unknown. Hence one reason why electronic mandis is a good idea is that payments can also be made through the electronic mode as all
transactions would be e-enabled. The recent demonetization has caused significant distortions as farmers are unable to sell their goods. This has happened just
when we are in middle of the kharif harvest which involves rice, soybean, cotton, maize, sugarcane, bajra, besides fruits and vegetables which are all year through.
The second issue for Indian agriculture is the rabi season which has begun where farmers start sowing their seeds. The issue here is less serious as a large part is
backed by credit where the prevalent cash crunch may not matter. It would only be at the margin that farmers may be impacted, and hence the pain here would be
secondary.

Why does demonetisation has lesser impact onto the rabi season?
Options:

1) Due to tax exemptions

2) Due to digital payments

3) Due to credit payments

4) Huge margins

Correct Answer: Due to credit payments

Candidate Answer: Due to credit payments

QID : 200 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

The rural economy is an important segment of the ecosystem and accounts for around 70 percent of employment and 50 percent of GDP with agriculture being the
main driver followed by services and manufacturing. It is largely unorganized and hence those working in rural India or consuming in this economy are a different
category of economic agents driven by different factors. The economy is quite complex in so far as the fact that cash dominates in terms of transactions and while
there has been some intrusion of the use of credit (kisan) and debit cards and ATMs, dependence on technology driven payments system is limited. This has hence
also become a haven for routing black money both in terms of seeking tax exemptions by channeling funds, to convert to legitimate funds. But a lot of black money
gets into land and ' apparent rural activity '

. Now consider some aspects of this economy and the cash conundrum. Almost all transactions in the mandis (there are above 7,000 organized ones and over double
the number that is unorganized), are based on cash as it is easy to use. The farmers prefer to receive cash and while some do take in cheques there is a sense of
doubt if the counter party is unknown. Hence one reason why electronic mandis is a good idea is that payments can also be made through the electronic mode as all
transactions would be e-enabled. The recent demonetization has caused significant distortions as farmers are unable to sell their goods. This has happened just
when we are in middle of the kharif harvest which involves rice, soybean, cotton, maize, sugarcane, bajra, besides fruits and vegetables which are all year through.
The second issue for Indian agriculture is the rabi season which has begun where farmers start sowing their seeds. The issue here is less serious as a large part is
backed by credit where the prevalent cash crunch may not matter. It would only be at the margin that farmers may be impacted, and hence the pain here would be
secondary.

Which of the following is not true in regards to rural economy?
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Options:

1) It account for major percent in employmenting the people of the country.

2) It has a technology driven mandis.

3) Major transactions are based on cash.

4) Demonetization has caused significant distortions in rural economy especially to farmers.
Correct Answer: It has a technology driven mandis.

Candidate Answer: Major transactions are based on cash.
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